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PART I

Choose the best answer to each question.
Questions 1-10.

1. Which statement is true?
a. The university bookstore is far from the library.
b. The university bookstore is to the right of the library.
c. The university bookstore is on the second floor of the library.
d. The university bookstore is in the building in front of the library.

2. What time is the dance circle meeting?
a.3:30
b. 3:45
c. 4:00
d. 4:15

3. What can be inferred about the man from this conversation?
a. He is usually punctual with his homework.
b. He likes to play baseball on weekdays.
c. He is an important player on his team.
d. He is usually good at writing introductions.

4. What will most likely happen next?
a. The man will get some extra clothing.
b. The man will wait for half an hour.
c. The man will catch a cold.
d. The man will write a message.

5. What will the woman most likely do?
a. Ask the teacher to cancel the assignment
b. Go back home to get the assignment
c. Call in sick, and miss the class
d. Explain the situation to the teacher

6. What is the woman concerned about?
a. Her choice of topic for the essay
b. The structure of her essay
c. Her position on the argument
d. The strength of the evidence



7. Which statement is true?
a. John has been feeling sick recently.
b. John is missing classes due to weather.
c. John has failed the course.
d. John is up-to-date with his work.

8. What does the man mean?
a. Joining the cheerleading club helps you get ahead socially.
b. Doing sports on weekends is an important part of college life.
c. Planning your time effectively leads to a successful college life.
d. Participating in club activities leads to success in college.

9. What can be inferred from the conversation?
a. The man likes to sell yakisoba and okonomiyaki.
b. The man is quite shy and unsociable.
¢. The man likes to talk about his classes.
d. The man is too busy in his classes to socialize.

10. What will the woman most likely do?
a. Go to the library to check out some books
b. Go to the writing center to seek advice
c. Ask the man to help her find information
d. Consult with other friends for advice
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PART II

Choose the best answer to each question.
Questions 11-12.

11. Why are they worried about Maya?
a. She is not answering her phone.
b. She does not have much time to prepare.
c. She has been assigned the hardest chapter.
d. She has been missing too many classes.

12. What does Maya NOT need to prepare for her presentation?
a. A five-minute summary of chapter two
b. One new piece of information on the topic
c. Two questions for the audience to discuss
d. Ten slides highlighting key points in the chapter

Questions 13-15.

13. What is the man’s problem?
a. He does not have a day planner.
b. He has not done his assignments.
c. He is not attending classes.
d. He is not good at using apps.

14. What does the woman suggest the man do?
a. Buy a new calendar phone app
b. Colour code his homework in red
¢. Rank his activities based on importance
d. Begin to schedule less part-time work

15. According to the conversation, what should be given the highest priority?
a. Family
b. Friends
c. Club activities
d. School work
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PART III

Choose the best answer to each question.
Questions 16-20.

Listen to the lecture.

16. What did the 2016 UNICEF report find about child poverty in Japan?
a. Many people do not believe it exists.
b. There are no visibly poor children.
c. It ranks highly amongst developed nations.
d. It is growing faster than in other OECD nations.

17. According to the lecture, what does relative poverty refer to?
a. A condition of living on less than half the national median household income
b. A comparison of national median household incomes in developed countries
c. A struggle for children to get the basic requirements to live such as food and shelter
d. A situation involving a poor family member in developed countries

18. By how many percentage points did the rate of children living in relative poverty increase
between the 1985 survey and the 2012 survey?
a.s
b. 11
c. 16
d. 49

19. According to the lecture, what is associated with the invisibility of poverty?
a. Fear
b. Sadness
c. Embarrassment
d. Discrimination

20. Which of the following best describes the main idea of this lecture?
a. There needs to be a clear distinction between relative poverty and absolute poverty.
b. Research on child poverty should be increased to further highlight the issues.
c. Despite increased media coverage in Japan, child poverty requires more discussion.
d. Japan should acknowledge and further tackle the social problems caused by poverty.



Questions 21-25.

Listen to the lecture.

21. Approximately when were the first synthetic plastics manufactured?
a. In the mid-1800s
b. In the early 1900s
¢. During WWII
d. 50 years ago

22. According to the lecture, what is an apparent benefit of plastics?
a. Their unlimited uses
b. They contain natural materials.
c. Their vast availability
d. They are easy to produce.

23. According to the lecture, why has the disposal of plastic products in landfills become a
problem?
a. There is little space left to dump plastic products.
b. Most plastic products do not break down naturally.
¢. Most plastic products leak toxic chemicals.
d. There is little desire to throw away plastic products.

24. 1f implemented, what is the expected result within 10 years of Boyan Slat’s proposal?
a. Reducing the plastics dumped into the ocean by 50%
b. Decreasing 50% of the harm done to marine animals by plastics
c. Extracting 50% of the plastics floating in the ocean
d. Cutting the cost of collecting plastics in the ocean by 50%

25. According to the lecture, what overall issue needs to be addressed?
a. Our recycling of plastics
b. Our reliance on plastics
c. The research on plastics
d. The dependability of plastics



Questions 26-30.

Listen to the lecture.

26. According to the lecture, what does the example of the gorilla highlight?
a. That humans value themselves
b. That animals should be kept in cages
c. That animals can be dangerous
d. That humans often make hard choices

27. What is the first aspect of speciesism mentioned in the lecture?
a. Humans should preserve species in ecosystems.
b. Humans should control the lives of other species.
c. Humans often value certain species over others.
d. Humans often discriminate against other species.

28. Which of the following is NOT mentioned as a way humans exploit animals?
a. Companionship
b. Cosmetics
c. Food
d. Hunting

29. Which example is used in the lecture to illustrate why some species are considered superior to
others?
a. Horses for farm work
b. Dolphins for entertainment
c. Rabbits for companionship
d. Whales for communication skills

30. Which statement best reflects the final comment made by the lecturer?
a. Speciesism is a key philosophical problem discussed today.
b. Speciesism is a problem that needs deeper consideration.
c. Speciesism is unfair, because animals need to be treated equally.
d. Speciesism is too complex an issue to be discussed easily.



(ZDR—JIFZEHTT,)

BRPHDETROR=VZHITEVTHES TWTTF W,




10

(ZDOR=VIFEHTT,)



=51 > T DiER

. D)—=T4 Y Z7I2E, PARTI & PARTII D 22003% ) £,

. JREEFRIZ. PARTI. PARTII Z&bET605 TTo &H 5D PART, £¥D
RV LIEOTONTNE A

L BEWIZIZ 4 0DBIRES S 2 5 TwET, FOomrSRLELEEbNS
K2% 1 DOBAT, LT — FOMUME ~—27 LTL 728\,

. BT OEREDVD 1L EHICHEL BT, WEMRTFLBED — F i RS
PEOEDD L TR TWVTLES N,

PART [ Cid. 320D XEX L (FHA T, TENETNDILEIIDVWTD DD
WIZEZ TSV, XEEFLDPRALEATONETVER A,

PART Il Tid, XEHD 12 DEMEAED T, BRIHES L) IIXEEZER S
HTLEEV, PARTH OFERRII 2 R=JIZH Y TTOT, ZIfE-
TTF vy,

11



PART I
Text 1

1. Indiana University Professor Elinor Ostrom won the 2009 Nobel Prize in Economics for research
that demonstrated the limitations of a major economic theory. Ostrom received the prestigious
award for her research investigating the management of the “commons”. Commons are natural
resources that are shared in a community. A widespread belief in economics is that human
behavior is motivated by self-interest that often leads to the depletion or destruction of shared
resources unless they are privatized or regulated by the government. However, Ostrom’s work
emphasizes that local communities can develop rules and institutions to manage and sustain
these shared resources efficiently. Her research raises questions about the validity of earlier
notions of the commons, and offers a more optimistic perspective on dealing with limited

resources.

2. The concept of the commons first appeared in an essay written in 1833 by the economist
William Forster Lloyd. Lloyd imagined a scenario in which a community shares land to graze
cows, which means all the cows in the community are allowed to eat the grass on the commons.
He believed that because no one owned the land, individuals would allow animals to overgraze
the common area, which, in turn, would degrade the land. In Lloyd’s scenario, people are more
likely to serve their self—interests than to preserve the common good. In 1968, Dr. Garrett
Hardin made the concept more widely known in an article he published in the journal Science.
In his article, Hardin coined the phrase “the tragedy of the commons”. The tragedy Hardin
referred to was the difficulty in controlling and limiting consumption in a world that was
becoming overpopulated. Commons, like land for grazing, water for irrigation, forests for
timber, fishing areas, and also intangible resources, like knowledge, might be depleted or
abused. Hardin’s work was embraced as a principle by the emerging environmental movement;

it led to either privatizing resources or expanding national and international regulations.

3. Greater authority was transferred to government institutions and companies to manage the shared
natural resources in local communities. However, many of these resources ended up in worse
condition once they were put under the control of distant bureaucrats and businesspeople who
lacked the knowledge or the motivation to manage them properly. Ostrom’s research revealed
the damage that had been done by private corporations, government institutions, and
international donors who had replaced the local institutions. While well-intentioned, these
organizations have unwittingly destroyed the shared relationships, customs, and knowledge that

have been used by local people over the ages.

4. Ostrom’s research documented how various communities manage commons over the long term,
and her findings refute the tragedy of the commons with real examples from places like Nepal,
Kenya, and Guatemala. She found that when local people have a long-term perspective, they

are more likely to monitor each other’s use of the land, and develop rules for behavior that

E
12



ensure a sustainable and economically efficient system of governance. One specific example is
the problem Swiss Alpine cheesemakers faced 800 years ago. They lived at a high altitude, and
the amount of land they could use for grazing their cows was limited. They developed a simple
rule that solved their problem. A person could graze their cows during the summer only if they
endured the difficulties of keeping them on the commons over the previous winter. No new
cows were allowed to graze during the summer. This rule helped the community manage the
commons more effectively. A modern example is the “Wikipedia community”, a successful
collective institution that manages communal knowledge. This community relies on contributors
to follow its rules and principles, and has safeguards in place that help the members manage

information and ensure that it is both accurate and reliable.

5. Awarding the world’s most prestigious economics prize to a scholar who champions cooperative
behavior significantly boosts the legitimacy of the commons as a framework for solving some
of the world’s greatest social and environmental problems. Ostrom’s work also challenges the
prevailing attitude in economics that there are few, if any, alternatives to privatization as a
means to generate wealth and welfare. Her work shows that social, environmental, and personal

advancements depend on the vitality of the commons.

31. What is the “widespread belief in economics” described in paragraph 1?
a. Motivation is necessary to share and protect resources from self-interests.
b. Regulation is needed to protect community resources from human actions.
c. Human behavior is the primary cause of the destruction of the environment.
d. Privatization of common resources is necessary to protect human interests.

32. According to the text, which of the following is one cause of the “tragedy of the commons™?
a. Environmental problems
b. Overregulation
c. Cultural values
d. Overpopulation

33. What is the purpose of paragraph 2?
a. To describe consequences of the economic theory of the commons
b. To describe research findings about the economic theory of the commons
c. To describe the history of the original economic theory of the commons
d. To describe the rationale for changing the economic theory of the commons

13



34. Which of the following can be best inferred by paragraph 3?

a. Cooperation between businesses and government is needed to save resources.
b. Businesses and government are generally not suited to managing the commons.
c. Organizations know they are destroying the commons despite their goodwill.
d. Government regulation is appropriate for protecting global resources.

35. Which of the following is the best definition of the underlined word “refute” in paragraph 4?

a. To illustrate a statement or a theory with examples
b. To deny evidence for a statement or a theory

c. To prove that a statement or a theory is false

d. To support a statement or a theory with evidence

36. Based on her research findings, which idea would Ostrom agree with?

a. Local people should manage shared resources based on their own system of rules.
b. Businesses should adopt local people’s rules to govern the commons.

¢. Governments should have a longer perspective when managing shared resources.
d. Communities should develop more complex rules to protect the commons.

37. Which example does NOT support Ostrom’s management of the commons?

a. To encourage local people to use different routes to go to work, the state charges tolls on

major roads.

b. Fishers, farmers, homemakers, and professors cooperate to protect a lake from water

pollution.

c. To enable both public access and coastal protection, communities prohibit the use of

certain vehicles on beaches.

d. Linguists researching children’s first language development share the results of their study

on a public website.

38. Which of the following is the best title for this text?

14

a. Historical Views of the Theories Regarding the Commons

b. The Environmental Consequences of Protecting the Commons
c. A Challenge to the Traditional Theory of the Commons

d. Practical Ways to Develop and Govern the Commons



Text 2

1. After taking part in the 1964 World’s Fair, science fiction author Isaac Asimov wrote an essay
in The New York Times in which he imagined what it would be like to visit the World’s Fair 50
years in the future, in 2014. Asimov predicted that, “Much effort will be put into the designing
of vehicles with ‘robot-brains’—vehicles that can be set for particular destinations and that will
then proceed there without interference by the slow reflexes of a human driver.” Several
scholars now expect that driverless cars will be available to the public by 2020, as Asimov
predicted. Along with this technological development come ethical questions. Philosophers are
now beginning to explore machine ethics, and whether or not machines can be programmed to
make ethical decisions in an emergency. Of course, being able to program a machine in a
particular way requires both technological advancement as well as an agreement between people
as to what kinds of behavior should be programmed into a machine. In making such decisions,

machine ethicists face a variety of difficult challenges.

2. The first is examining whether or not ethics can be properly programmed at all. “Act
utilitarianism” is one well-known ethical theory that provides a possible answer. According to
this theory, one can make ethical decisions based solely on an expected outcome that a person
believes results in the greatest good to the greatest number of people. Most ethicists believe that
we need to consider whether an action will cause pleasure or displeasure to those involved. To
do so, we need some sort of scale to measure the intensity and duration of pleasure or
displeasure in order to determine the proper course of action. Theoretically, machines would
have an advantage over humans if algorithms* could be installed in them that would enable
them to calculate and quickly decide the best action for the greatest pleasure. However, not all
ethicists agree on using the theory of act utilitarianism on machines. They say it violates human
rights because decisions might be made to sacrifice some people for the greater good. In that

case, which ethical theory should be used to develop algorithms for machines?

3. The second challenge is whether machines can be programmed to make correct ethical decisions
under particular circumstances. Currently, many scholars doubt that machines will ever be
conscious, be able to display emotions, or have freewill. To make these decisions, machines
will have to be programmed with an almost unlimited set of circumstances and projected
outcomes. If this is possible, machines might have an advantage over humans. In fact, the
intensity of emotions that humans face in dire situations can be viewed as a weakness that
might render a person incapable of making a morally questionable decision or taking a morally
questionable action, in the face of a threat. For example, the brakes on a car malfunction while
driving at 80 kilometers per hour, and the driver has only four options: go left into a group of
five children, go right into a group of nine businesspeople, go forward into a big tree, or
forward into two people on bicycles. While a human driver might panic in this situation, a
driverless car programmed with an algorithm based on act utilitarianism would not. However, is

it possible to program machines to react appropriately to every possible situation?
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4. The third and possibly most difficult challenge that needs to be explored is the issue of whether
or not there are universally acceptable actions when faced with an ethical dilemma. Indeed,
many scholars have pointed out that societies and individuals have differing ethics.
Compounding this problem is the fact that different societies have their own traditions and
customs that they rely on when facing ethical problems, and that these age-old approaches often
trump more modern solutions when addressing ethical issues. One of these traditional methods
for problem solving is the use of virtue ethics. Virtues, often described by scholars as culturally
based notions of what is good, are deeply ingrained within culture. Relying on these virtues is
often preferable to basing every decision on outcomes. The latter is a characteristic of
consequential ethics such as act utilitarianism. This leads us to another issue. What is the best
ethical approach? How can we program machines if we cannot collectively determine this

ourselves?

5. As our world becomes more and more technologically oriented, we will need to examine the
issues of machine ethics more profoundly. As we develop machine ethics, we simultaneously
develop a deeper understanding of human ethics. To program a machine to behave in a certain

way requires us to look into a mirror and better understand ourselves.

*algorithm : HE P, 7T XA

Quotation from: Asimov, I. (1964, August 16). “Visit to the World’s Fair of 2014.” The New York Times.
Retrieved from http://www.nytimes.com/

39. What is implied in the Asimov quotation in paragraph 1?
a. Robot-brained vehicles are superior to human drivers.
b. Robot-brained cars are slow to act when in danger.
c. Robot-brained cars will interfere with human drivers.
d. Robot-brained vehicles will be widely available to the public.

40. In paragraph 2, why is it problematic to use act utilitarianism to program machines?
a. There is no scale to measure pleasure, so act utilitarianism cannot be used.
b. Machines cannot execute algorithms quickly enough to make decisions.
c. Decisions are made without regard for certain individuals.
d. It is impossible to develop algorithms to determine outcomes.

16



41.In paragraph 3, in what way do machines have an advantage over humans in reacting to
situations?
a. Machines behave more ethically.
b. Machines move more quickly.
. Machines are not emotional.
d. Machines tend not to panic.

42. Based on the idea of act utilitarianism, which is seen as the best decision when the car brakes
malfunction?
a. Go left into the children
b. Go forward into the cyclists
¢. Go right into the businesspeople
d. Go forward into the tree

43. When faced with an ethical dilemma, why is it difficult to suggest universally acceptable
actions?
a. Ethical approaches are influenced by culturally dominant nations.
b. Ethical approaches vary among individuals and societies.
c. Ethical approaches are often mistakenly related to virtues.
d. Ethical approaches are changing rapidly in the modern world.

44. According to the text, why do some people consider virtue ethics preferable to consequential
ethics?
a. They represent what people believe to be good.
b. They offer answers to difficult questions.
c. They allow us to predict the future better.
d. They are based on clear rules and outcomes.

45. What is the author’s message in the last sentence of the text?
a. Machine ethicists need to take into account cultural differences.
b. Exploring machine ethics requires us to learn more about ourselves.
c. Studying machine ethics is a challenge that requires reflection.
d. Machine ethicists will play a significant role in the next generation.

46. What is the best title for this text?
a. The Philosophy of Act Utilitarianism and Technology
b. Problems with the First Driverless Cars
c. Consequences of Making Difficult Ethical Decisions
d. The Challenges Faced by Machine Ethicists

17



Text 3

. On September 14th, 1990, a 4-year-old girl in the U.S. became the first gene therapy patient.
Due to a genetic disease affecting her immune system, she was unable to fight infections.
Doctors took white blood cells from her body and replaced the faulty gene responsible for her
illness with a correct version. These cells were then re-injected into her body. This is the basis
of gene therapy; it attempts to fix genetic diseases at the molecular level by correcting defective
genes. Gene therapy is still an experimental technique, but there are many potential applications
that could allow doctors to treat disorders without the use of drugs or surgery.

. One recent success in gene therapy comes from a team of researchers at Oxford University in
the U.K. who have developed a gene therapy technique that has been successfully trialed as a
treatment for choroideremia, an inherited genetic disorder that leads to blindness almost
exclusively in men. The eyesight of patients with this disease gradually begins to deteriorate,
often starting with night blindness in childhood, before developing into tunnel vision and

eventually resulting in a complete loss of eyesight, usually when the patients are in their 40s.

. Choroideremia is caused by a mutation in the CHM gene, located on the X chromosome, which
leads to the degeneration of the retina, a layer of light-sensitive cells in the back of the eye.
Normally, a group of proteins, called Rab proteins, facilitates the movement of nutrients in and
out of cells. Newly synthesized Rab proteins are taken to their correct location within cells by a
carrier protein called Rab Escort Protein-1 (REP-1). The CHM gene is responsible for making
REP-1. Therefore, having a defective CHM gene results in a lack of REP-1, which in turn
prevents Rab proteins from functioning properly. Many cells in the body can cope with this by
using an alternative to REP-1. However, the retina is unable to do this; hence the gradual

degeneration of cells in the eye and the onset of choroideremia symptoms.

. In order to fix this problem, the team at Oxford University injected a new copy of the CHM
gene into the back of an eye, thereby providing instructions for the production of REP-1 and
preventing the degeneration of the cells. The scientists were able to deliver the working copy of
the gene by first inserting it into a retrovirus in a laboratory. Retroviruses that have been
adapted for gene therapy enter human cells and integrate new DNA, containing the working
copy of a gene, into the host cell’s DNA.

. The results of the trials have shown that this treatment not only stops the deterioration of
eyesight but also improves vision. Patients have reported being able to read three or four lines
further down an optician’s eye chart than they could before the treatment. One patient, a 46-
year-old man, revealed he had been able to see the stars for the first time since he was 17, and
that he could see trees and flowers in much more vivid colour than before. These patients had
believed that they would eventually become fully blind and were powerless to stop their disease.
Now, thanks to this gene therapy treatment, their lives have been completely transformed.
Moreover, if doctors can identify choroideremia in children at an early stage, they might be

E
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able to prevent any loss of vision from occurring. Unlike traditional medicine, one single
treatment of gene therapy can correct the defective gene and allow the affected cells to continue
to function normally. In addition, by treating the disease at the genetic level, it is actually

possible to prevent it from affecting the patient at all.

6. Choroideremia is a rare disorder, affecting only approximately 1,000 people in the U.K.
However, doctors believe the success of the gene therapy trials for choroideremia can be
transferred to more common forms of blindness, such as macular degeneration, which currently
affects the vision of 600,000 people in the U.K. Treating macular degeneration is a big
challenge because the disease is caused by defects in several genes, as opposed to the single
gene in choroideremia. Nevertheless, scientists hope that gene therapy can be an effective
treatment not only for blindness, but also for many other diseases from Parkinson’s and

Alzheimer’s to cancer and AIDS.

47. What does “a correct version” in paragraph 1 refer to?
a. A white blood cell
b. A molecular version
C. A replacement gene
d. An immune system

48. According to the text, what is true about choroideremia?
a. It is very rarely found in women.
b. It is primarily found in elderly men.
c. It usually begins with tunnel vision.
d. It generally causes rapid loss of vision.

49. The word “degeneration” underlined in paragraph 3 is closest in meaning to which of the
following?
a. A return to its original state
b. A breakdown in production
c. A decrease in weight and volume
d. A progressive loss in function
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50. According to the text, what is the direct cause of blindness in choroideremia?

a. Rab proteins cannot facilitate the movement of nutrients in and out of cells due to a
mutation in the REP-1 gene.

b. Rab proteins cannot take REP-1 to their correct location within cells in the retina due to a
faulty gene.

¢. REP-1 cannot be produced because of a faulty CHM gene, which stops Rab proteins from
working normally.

d. The retina in the eye cannot use an alternative to REP-1 due mainly to a mutation in the
CHM gene.

51. According to the text, how does gene therapy directly cure choroideremia?

a. Newly synthesized REP-1 proteins are taken to their proper place within cells.
b. A layer of light-sensitive cells in the back of the eye is repaired by surgery.

c. Gene therapy enables the movement of nutrients in and out of cells.

d. REP-1 is produced after the addition of a new copy of the CHM gene.

52. Which is NOT mentioned as a result of this gene therapy trial to cure choroideremia?

a. The success rate for the choroideremia gene therapy to date is much greater in younger
patients.

b. Gene therapy has enabled some patients to read an optician’s eye chart with greater
accuracy.

c. Gene therapy has stopped patients from losing their eyesight and has enabled them to
improve their vision.

d. One patient gained the ability to see the stars in the sky after he had not seen them for
about 30 years.

53. According to the text, what is one of the characteristics of gene therapy?

a. It complements traditional medicine.
b. It requires only a single treatment.
c. It is too expensive for most people.
d. It is the only cure for blindness.

54. According to the text, what difficulty does macular degeneration pose for gene therapy?

20

a. Many doctors will be needed to perform the procedure.
b. Multiple genes will need to be targeted.

¢. More people will need to be treated in hospitals.

d. Many other diseases will need to be treated first.
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Hannah Arendt, a popular 20th century philosopher and journalist, was accused of plagiarism.
Arendt was sent to Israel by The New Yorker magazine to attend the war crimes trial of the Nazi,
Adolf Eichmann, in 1961. After the trial, Arendt received worldwide praise for the book she
wrote titled Eichmann in Jerusalem: A Report on the Banality of Evil. The less well-known part
of the story, (55) , is that a man named Raul Hilberg wrote a detailed book used by Arendt
to develop her thesis that Eichmann was an ordinary person who committed extraordinarily evil
crimes. When Arendt's book was published, Hilberg claimed she had stolen his original ideas.

Hilberg was born in Austria in 1926. In order to (56) the Nazis at the beginning of
the Second World War, Hilberg’s family fled first to France, then to Cuba, and finally arrived in
America. In his late teens, Hilberg joined the American military and fought as a U.S. soldier in
Germany. At the end of the war, after the (57) of Berlin, Hilberg was chosen, as a native
speaker of German, to translate thousands of Nazi documents on the (58) of the Jewish
people. This experience (59) Hilberg’s interest in studying the mechanisms of the
genocide.

(60) his arrival back in the U.S., Hilberg continued his work when he got a job with

the War Documentation Project, and he was responsible for categorizing Nazi documents to
prepare for war crimes trials. While studying the documents, Hilberg simultaneously pursued
Masters and Ph.D. (61) at Columbia University in New York. While many (62)
Hilberg from writing about such topics, mainly because the U.S. government was seeking to
establish good relations with West Germany, he chose to continue. By the end of his studies,
Hilberg had compiled a 1,200-page history of the Holocaust, which he submitted to his university
as a Ph.D. dissertation in the mid-1950s.

Hilberg then attempted to publish his dissertation as a book, but the manuscript was rejected by
its main reviewer, Hannah Arendt. Arendt claimed that she rejected Hilberg’s epic volume because
its first chapter on the history of anti-Semitism in Germany (63) precision and accuracy.
Later, when Hilberg found a (64) to fund the publication of his book, Arendt was offered
a copy by the publishing company before her departure to Jerusalem, which she took. Later,
Hilberg asserted that Arendt had plagiarized portions of his writing in her work. In response to
Hilberg’s accusation, Arendt argued that she did no such thing and instead put forth the explanation
that her work was primarily a philosophical one (65) Hilberg’s concentrated more on
economics, history, and politics. Although both authors have passed away, this plagiarism
controversy continues (66) this day.

22



a. however a. betray a. Closure
b. likewise b. escape b. Defense
7
5 C. moreover 5 c. offend 5 c. Fall
d. therefore d. reveal d. Reconstruction
a. depression a. benefited a. At
58 b. exclusi'on ' 50 b. changed 60 b. In .
. extermination c. persuaded c¢. Until
d. isolation d. sparked d. Upon
a. certificates a. denied a. has lacked
61 b. courses 62 b. d%sco.uraged 63 b. is lacking
c. degrees c. dismissed c. lack
d. theses d. distracted d. lacked
a. benefactor a. despite a. by
64 b. bene.ﬁciary 65 b. nevertheless 66 b. for
C. receiver c. when c. to
d. recipient d. while d. with
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